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Note: All questions are compulsory. Marks are indicated against each question in square brackets.

QL. 2) Convert the following decimal numbers into single-precision floating-point numbers.

(1) -1234H (1) +33.648H [I]fCO-l]
b) What is the purpose of segment registers in the reai mode operation of the mlcroprocessor’? Elaborate
H.SHCO-1]

¢) Determine the effective address accessed by the following register combinations in 8(5§6“r~mcroprocessor
based system:

(1) DS=1239 AX=3000H (ii) SS = 8000H and SP = 9000H (iii) DS = C000H and S A{}OOH

{iv) DS = 1A00H and CX = A900H [2][CO-1]

2. a) Give the block diagram of computer system showing the address, data .and’ control bus structure,
Explam the process of data transfer through microprocessor to mput/output and memory devices
connected to the computer system with the help of these buses. . ° [1+2][CO-1]

b) Suppose that DS = 1100H, $S=1000H, BX = 0400H, AX—ZOOOH LIST = 0050H, and S1 = (300H.

Determine the addressing mode and-address accessed by each of the followmo instructions, assuming real
mode operation:

(i) MOV LIST[S], CX (ii) MOV DH,[ BX+4*SI+1769H] [21[CO-11

{3Z. a) in the rea! mode. show the starting and endmo addresses of each segment located by the following
segment register values: :

() ABCDE i) GOFFH (it 2478H (iv) EFDOH o

L [1][CO-1]
by Whicn register or registers are used as an; Qﬁs’ address for the string instruction in the microprocessor?
. k N [0.5][CO-2]
Q4. 4} Find the machine language equwalent of ¢ ‘Lne MOV AX, [DI+289AH] instruction. [2][CO-2)
o) Convert 887E034BH from mach*na&anguage to assembly language. 12i [CO-2]

{Note: Opcode for MOV is 100010 solve by mentioning the different fields of 16-bit instruction format; Use
zables given below for quesnon 4y°

#MOD Function
A Code Addressing Mode
G No displacement
01 8-bit sign-extended displacement 000 DS:[BX+5i]
s} 32-bit signed displacement 001 DS:[BX+DI}
| R/M is a register 010 85:{BP+5l]
. o011 S8:BP- bl
100 ps:fsh
Cods Wi (Bl W =1 (Word) W =1 (Doubleword) 101 0s:{D1]
- 110 SS:{BPJ
o00 ap AX EAX T DSiBX]
401 [ CX ECX
fm '::' [B>>><< Eg: *Note: Special Addressing Mode
qC AH sp ESP
O SH BP EBP
) H Si =]

IR BH o £DI




